
1849

Type MMaterial SSurface Treatment

HBLFSDD6

ADC12
-

HBLFSN6
HBLFSNK6
HBLF##6
HBLFSSW6
HBLFSSW6-50
HBLFSDW6
HBLFSDW6-50

HBLFSNM6
Electroless Nickel 

Plating 
NBLTS6 A6063S-T5

AnodizeNBLTT6

Others A6N01SS-T5

-For Slot Width 8mm (Series 6) Aluminum Frames 30, 50, 60, 100mm Square-

Brackets

Sheet Metal Brackets W P.1869

QBrackets

Part Number

HBLTS6

Reversal Tabbed Brackets 
HBLFSN6
HBLFSN6-5 (For M5 Screw)

HBLFSNM6 (Electroless Nickel Plating) 

Bracket with Single Side Tab 
HBLFSNK6 
HBLFSNE6 (Refer to Fig. 1)

Nut-Fixing Brackets 
HBLFSR6 
(See Fig. 2)

Brackets with Slotted Hole on One Side 

HBLFSH6

Tabbed Brackets 

HBLFS6

Reversal Tabbed 
Brackets 
HBLFSSW6 
(Refer to Fig. 3)

Reversal Tabbed Brackets 

HBLFSSW6-50 
(For 50 Sq.) 
(Refer to Fig. 4)

20
12

28

4.5

Ø6.2

M5

10
10

20

12
10

28
23

(When specifying 
alteration C)

4.
5

0.
7

0.7

1210
23

28

12
20

28

2-Ø6.3

M5
(When specifying 
alteration C)

28

20

12

20
10

102-Ø6.3

M5

20
12

28

4.5 (When specifying 
alteration C)

(When specifying 
alteration C)

4.
5

0.
7

0.7

12
20

28

12
20

28

2-Ø6.3

M5

Reversal Tabbed Brackets 

HBLFSDD6

Reversal Tabbed 
Brackets 
HBLFSDW6 
(Refer to Fig. 5)

Reversal Tabbed Brackets 
HBLFSDW6-50 
(For 50 Sq.) 
(CAD File Name: hblfdw65) 
(Refer to Fig. 6)

Brackets with Caps 
HBLFSNT6 
(See Fig. 7)

Triangle Brackets 
HBLDSW6 
(Without Tab)

Triangle Brackets 
HBLDSWT6 
(With Tab)

Triangle Brackets
Thick Brackets 
HBLDDW6 
(Without Tab)

55

20

25

10

1010

50
308-Ø6.2

15
30

10

12

55

M5
(When specifying 
alteration C)

5

8-Ø6.2

5

4010
20

10

45
35

12

12
15

35

45

M5

20

(When specifying 
alteration C)

Thick Brackets 
NBLTS6 
HBLTS6 
HBLTS6-5 
(For M5 Screw)

Ultra Thick Brackets 

HBLUS6

Thick Brackets 

HBLTSW6

Scalene Brackets 

HBLTF6

Thick Brackets 

NBLTD6 
HBLTD6

Ultra Thick Brackets 

HBLUD6

10
10

20

12

51
41

51

41
12

2-Ø7

Ø4.2

9

Ø4.2

2-Ø7

80

12
70

80
14

20

10

10

12

70

Thick Brackets
Triangle Brackets 
HBLTDW6

Tabbed Brackets 
HBLFTD6*

Tabbed Brackets 
HBLFUD6

Thick Brackets 
HBLTD6-50 
(For 50 Sq.)

Tabbed Brackets 
HBLFTD6-50*

9

Ø4.2

8-Ø7

12

45
30 85

50

8530

45
12

30 10
10

5
8 60

60

30
15

15

30

26
13

13

2-M6 
Counterbore

20
10

10

28

28

12

4.5

12
M5

(When specifying alteration C)

30

18

12

204.5 10
102-Ø6.3

15
12

30

M5
4 (When specifying 

alteration C)

4-Ø6.2

5

20
10

10 45

35
20

12

M5
12
15

35

45

(When specifying 
alteration C)

4-Ø6.2

5

20
10

10
55

45

25

12

M5
12

15

45

55

(See Fig. 2)

(When specifying 
alteration C)

26
13

13

60

15

30

60
30

5
15

2-M6 
Counterbore

5

60

15

30

60
30

5
15

4-M6
Counterbore

56
30

13

13

5

9

φ4.2
12

45
30

85

20

12

4－φ7

10 10

85
30

45

9

3-Ø7
Ø4.2

12
45
55

12

45

75 85

10 10

20

4-Ø7

Ø4.2

12

51
41

10

5010

51

41
12

9

30

4-Ø7

Ø4.2

14
80

70
12

12

70
80

50

30
10

10

4-Ø7

12

56
41

10

5010

56

41

12

9

30

M5
(When specifying 
alteration C)

14
90

70
12

12

70
90

50
30

10

10

M5

4-Ø7

(When specifying 
alteration C)

4-Ø7

56
41

40

56

M5

12

10
10

41

12
9

20

(When specifying 
alteration C)

4-Ø7

Ø4.2

14
80

70
12

70

20
10

10
40

80

12

4-Ø7

Ø4.2

12

51
41

10

4010

51

41
12

9

20

* Barrel Grinding     
is changed to 
Shot Blast 
Finishing.

Ultra Thick Brackets 
HBLUD6-50 
(For 50 Sq.)

20

32
30

12

12

30
32

M5
(When specifying 
alteration C)

8-Ø6.2

5

5010
30

10
55

45

25

12

M5
12
15

45

55

(When specifying 
alteration C)

1850

2-Ø6.2

4
1

12

20

2-M5

30

30
18

15

4.5

12 1

(When specifying
alteration C)

*1

*2

*3

2-M5

12

20
55

15
45

55

25
45

4-Ø6.2

5
0.

8

12 0.8

(When specifying
alteration C)

2-M5
4-Ø6.2

12

20
45

15
35

45

20
35

5
0.

8

12 0.8

(When specifying
alteration C)

12

50
55

15
45

55

25
45

12 0.8

8-Ø6.2

2-M5

5
0.

8

(When specifying
alteration C)

12

40
45

15
35

45

20
35

12 0.8

8-Ø6.2
2-M5

5
0.

8

(When specifying
alteration C)

(Fig. 7) HBLFSNT6(Fig. 6) HBLFSDW6-50(Fig. 5) HBLFSDW6

(Fig. 1)  HBLFSN6
HBLFSN6-5
HBLFSNM6
HBLFSNK6
HBLFSNE6

(Fig. 3)  HBLFSSW6(Fig. 2)  HBLFSSW6 (Fig. 4)  HBLFSSW6-50

11.7
12

15

6.2

28
22.3

20
8

12

4
28

<Back View>

33

19

24

33
8

3.75

Cover Bracket

10
10

20

2-Ø6.2
2-M5
(When specifying
alteration C)

4
1

12

30
15

12
18

30
26

*1HBLFSNK6 does not have these tabs on these surfaces.
*2HBLFSNE6 does not have these tabs on these surfaces..
*3Ø5.2 for HBLFSN6-5.

Order 
Quantity

Standard Service

Regular Quantity Large Quantity

Quantity 1~120 121~
Days to ship Standard To be quoted

E Stock lineup may vary by country.
E Same day shipping available upon request.

Order by THA: 16:00, SGP: 12:00, MYS: 15:00 DP.75

3

Part Number Mass
(g)

Applicable Bolt, T Nut Allowable 
Load
(N)Type Bolt Quantity T Nut Quantity

HBLFSN6

15

CBM6-12

2

HNTT6-6

2 1176

HBLFSN6-5
(For M5 Bolt) CBM5-12 HNTT6-5

HBLFSNM6
(Electroless Nickel Plating)

CBM6-12

HNTT6-6

HBLFSNK6

HBLFSNE6

HBLFSR6

HBLFSH6 12

HBLFS6 13

HBLFSSW6 37
4 4 1764

HBLFSSW6-50 27

HBLFSDD6 65

8 8
2940

HBLFSDW6 88

HBLFSDW6-50 53 2964

HBLFSNT6 17 2 2 1176

HBLDSW6 100
4 4 1764

HBLDSWT6 110

HBLDDW6 270 8 8 2940

NBLTS6

44
CBM6-15

2 2 1176
HBLTS6

HBLTS6-5
(For M5 Bolt) CBM5-15 HNTT6-5

HBLUS6 101 CBM6-20

HNTT6-6

HBLTSW6 76

CBM6-15

4 4 1764

HBLTF6 62 3 3 1470

NBLTD6
111

4 4 1960HBLTD6

HBLUD6 256 CBM6-20

HBLTDW6 192
CBM6-15

8 8 2940

HBLFTD6 88

4 4 1960

HBLFUD6 270 CBM6-20

HBLTD6-50 88 CBM6-15

HBLUD6-50 211 CBM6-20

HBLFTD6-50 86 CBM6-15

Alterations Code Spec. Applicable Bracket

Mounting 
Hoes for 

Cover
C

Adds a tap for a bracket for cover mounting. 
(M5 on Both Sides, Depth 15mm)
(Mounting Screw W P.1879 HCBM)

Tapped Hole Position

HBLFSN6

HBLFSN6-5

HBLFSNK6

HBLFSNE6

HBLFSNM6

HBLFSR6

HBLFSH6

HBLFS6

HBLFSSW6

HBLFSSW6-50

HBLFSDD6

HBLFSDW6

HBLFSDW6-50

HBLFSNT6

NBLTS6

HBLTS6

HBLUS6

HBLTSW6

NBLTD6

HBLTD6

HBLUD6

HBLTDW6

HBLFTD6

HBLFUD6

HBLTD6-50

HBLUD6-50

HBLFTD6-50

Applicable 
Bolts and 

Nuts come 
as a set

SET
SST

(Stainless Steel)
SEU

(Pre-Assembly 
Insertion Spring Nuts)

SSU
(Pre-Assembly Insertion 

Spring Nuts Stainless Steel)
SEP

(Post-Assembly 
Insertion Spring Nuts)

SSP
(Post-Assembly Insertion 

Spring Nuts Stainless Steel)
SEC

(Washer Integrated 
Bolts and Nuts)

Supplies a set of applicable bolt and nuts 
for fixing the bracket to a extrusion. (Adds 
to the bracket price)

HBLFSN6

HBLFSNK6

HBLFS6

HBLFSSW6

HBLFSSW6-50

HBLFSDW6

HBLFSDW6-50

HBLTS6

HBLUS6

HBLTSW6

HBLTD6

HBLUD6

HBLTDW6

HBLTD6-50

HBLUD6-50

Code Bolt Nut
SET CBM6-12 HNTT6-6
SST SCB6-12 HNTTSN6-6
SEU CBM6-12 HNTU6-6
SSU SCB6-12 SHNTU6-6
SEP CBM6-12 HNTP6-6
SSP SCB6-12 SHNTP6-6
SEC HCBST6-15 HNTT6-6

(Ex.) When HBLFSN6 is specified

E When specifying other than HBLFSN6, 
check for the applicable bolts and nuts.

Part Number - (C, SET, SST, SEU, SSU, SEP, SSP, SEC)

HBLFSN6 - C-SET

CAD Data Folder Name: 37_Aluminum_Frames

30, 50, 60, 1008




